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FA oY
I ofgEy Jlg 2=
el oy =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,000
308 AXIHSOIA 15,000 15,000
01 HASHHBSEXS 15,000 15,000
OO0l et XFHE 282 A
-&9 K& 15,000
403 THXI M SAH=01 ™ 5,870,000 5,610,800 259,200
= 5,870,000
01 AXIHHA=2 2 5,870,000 5,610,800 259,200
Odidol2 &Het XEHE HE 5,870,000
= 5,870,000
HSR = Jlet= 6,370,000 5,460,000 910,000
= 4,900,000
= 1,470,000
403 AXIEHMSAH=01d 6,370,000 5,460,000 910,000
= 4,900,000
= 1,470,000
01 AXIEHM A =2 £ 6,370,000 5,460,000 910,000
OHLXIF AlEHE HE 6,370,000
= 4,900,000
= 1,470,000
oHfIM D18t 2= 4,830,300 4,572,100 258,200
= 580,000
E 269,000
= 3,981,300
= et 2| 559,000 590,000 A31,000
ES 169,000
== 390,000
308 XXM SOIA 390,000 390,000
01 XN BSELES 390,000 390,000
Odi+==& otd2e| X3 390,000
403 MR EHSAHE01H 169,000 200,000 /31,000
e 169,000
01 AXISHHA =2 £ 169,000 200,000 231,000
Ot+==2% otEzte| X (H2) 169,000
ES 169,000
LU MAEZNSIZ ) (HEALY) 91,000 91,000 0
308 XXM SOIA 91,000 91,000
01 XN B2 LS 91,000 91,000
O HLAMAZ= HERA L MES
o 91,000
HLAHAZZ DRI 2 100,000 00,000 0
S 100,000
201 er23| 100,000 100,000 0




FA oY
I ofeEy Jlg 2=
chRls oM Jlgt 2= (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EN 100,000
03 A= I 100,000 100,000 0
O8Y Fad ojgtdus 24 100,000
e 100,000
=S8 SHEXAAEH 80,000 31,000 49,000
= 80,000
308 XtXIEMSO0IE 80,000 31,000 49,000
= 80,000
01 HASHHBSEXS 80,000 31,000 49,000
oY dl+==& 243t X2 80,000
= 80,000
22 THHAILR A (HEALY) 2,870,000 2,940,000 70,000
403 MR EHSAHE01H 2,870,000 2,940,000 70,000
01 MXIHHA 22X 2,870,000 2,940,000 A70,000
O 3 ==& =4 800,000
OsFoid =dlZ =4 540,000
Ol & AJ0I93 &4 60,000
Og=sg 8 2238 & dtsd 24 900,000
OIIIEELHEH x4 180,000
OR¥E+==& FHd 390,000
oA AL XA 65,000 0 65,000
403 THXISHMSAH=01H 65,000 65,000
01 AR A =2 £ 65,000 65,000
OEEE ot =422 8H dEU2 EX 65,000
oief I - 2& Jlgtxd 1,065,300 670,100 395,200
= 500,000
[ 565,300
201 eer23y| 2,100 2,100
01 AtR2t2|HI 2,100 2,100
Ol =228 2l3] 2,100
207 AR 400,000 400,000
01 H7ESHI 400,000 400,000
OAoliet = HicHefdd 2ZFHE 2= HHA
9 200,000
ORN2Xt ST OtelLIgele SeH=
8 2 200,000
308 AtXIEMISOIE 663,200 670,100 26,900
= 500,000
= 163,200
01 X SHHEAEES 663,200 670,100 26,900
O=NQEW= Nzl JIgtxd 4,200
02023 OtAItE EF=HREUS] 650,000
= 500,000




FA oY
I ofeEy Jlg 2=
el oM Jlgh = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 150,000
o8 SX o 2ZFZ=278 29 9,000
et 2& 5,309,431 4,734,350 575,081
= 150,000
[ 1,303,000
Jl 983,790
== 2,872,641
2ot Al XMl 195,000 195,000 0
= 150,000
< 45,000
308 AXIHSOIA 195,000 195,000 0
= 150,000
= 45,000
01 HAHHBSEXRS 195,000 195,000 0
O2ot7 afefMe Il xiel 195,000
= 150,000
= 45,000
ofMeJ] datate X3 1,954,500 1,667,900 286,600
= 1,303,000
< 651,500
308 AHXIEMSOIE 1,954,500 1,667,900 286,600
= 1,303,000
< 651,500
01 HAHHBSEEXS 1,954,500 1,667,900 286,600
Odil &40 ZtAreg XI& 1,579,500
[ 1,063,000
= 526,500
O Hai XDl EstAr X 375,000
s 250,000
s 125,000
olgstd 2s2e| K& 736,800 778,200 241,400
201 er23| 16,200 16,200 0
03 A= SHI 16,200 16,200 0
O=Ncctsstolg & Jopx2t 28 16,200
308 AFXIEMSOIE 645,600 694,500 48,900
01 AXEH B EES 645,600 694,500 48,900
Ol =0l 2 107,100
Odf eIl +=HAl X2 513,000
OEAMXIS oM eD] 22| X 25,500
403 MR HHMSAHE01H 75,000 67,500 7,500
01 MXIHHA =222 75,000 67,500 7,500
O I 2| elxet 25 75,000




FA oY
B GHUEA DB PE
ool ey BE (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HLHMAE &S 30,000 30,000
403 X SHHMSAH=01H 30,000 30,000
01 AXISHHA =22 & 30,000 30,000
Odld2E MMM 7 & 22311 4X| 30,000
LXNHA HelAr (HEALY) 20,800 19,500 1,300
308 AXIHSOIA 20,800 19,500 1,300
01 MAHHBSEEXS 20,800 19,500 1,300
OgxHe el 20,800
oHfMeD| Hotd &X 158,000 0 158,000
Jl 140,000
= 18,000
403 AXIEHHSAH=0l: 158,000 0 158,000
Il 140,000
== 18,000
01 AXISHHA =2 & 158,000 0 158,000
Ol &gy Hoty £X 168,000
Jl 140,000
[ 18,000
oHefMelD| Hotd Xl 39,000 0 39,000
Il 30,000
= 9,000
308 AHXIHMSO0IA 39,000 0 39,000
7l 30,000
= 9,000
01 AXHNBEES 39,000 0 39,000
Oofl &gy Hotd Xl 39,000
Il 30,000
== 9,000
HSHIIZ SatAte 1,067,927 1,596,750 /538,823
Jl 813,790
= 244,137
308 AtXIEMSOIE 1,067,927 1,517,750 A\459,823
Jl 813,790
= 244,137
01 XN EES 1,067,927 1,517,750 A\459,823
Otttrea3 X1z ol X 1,067,927
Jl 813,790
=S 244,137
FEIM==IIE2 28X 280,000 280,000 0
308 AXIHMSOIA 280,000 280,000
07 HXHH2LRES 280,000 280,000
ORFlLcH==II1E2 g2 N3 280,000




FA oY
I ofgEy Jlg 2=
cHell oneEE 2= (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFEsH 2 550,424 550,424
201 er23 | 527,204 527,204
01 At2teltl 40,374 40,374
Ost3dstd 29 40,374
02 S3=gl 486,830 0 486,830
O3222=, 288 & MAl 85,950
oder & e KA 400,880
202 04| 23,220 23,220
01 SLHoIH 4,320 4,320
Odfi &2 gD| 282 X2 4,320
02 A0 18,900 0 18,900
Odig )| 2erde =8 18,900
SIS FHeA iz 10,000 10,000
201 Zet=3h] 10,000 10,000
03 &A=& 10,000 10,000
Ot dstd Fetal izl 10,000
oM Dl = - 28 FH| 7 276,980 276,980
405 KHaHE SH 276,980 276,980
01 AL =S F=H 276,980 276,980
Ol &M eIl =3 - 28t - 22 ZH| 7 276,980
OHAMEN= R 19,506,648 6,434,660 13,071,988
= 16,053,000
[ 3,453,648
HeES AR (AZT ) 433,644 687,360 N253,716
= 346,000
== 87,644
308 AtXIEHMSOIE 433,644 687,360 N253,716
= 346,000
= 87,644
01 XN EES 433,644 687,360 A253,716
OtfeEs 7S 2e|(ANzZB ) 420,144
= 346,000
= 74,144
OJt28e 2SS 2elAt X 13,500
HeES A2 (AZA=) 4,627,644 702,300 3,925,344
= 3,811,000
= 816,644
403 AXIEHMSAH=Z01d 4,627,644 702,300 3,925,344
= 3,811,000
= 816,644
01 AXEHM A =2 £ 4,627,644 702,300 3,925,344
OdflgE2s 7S 2el 267,144




FA oY
M gieEAl JlY 2
el oS ME=a (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 220,000
=S 47,144
ONHEAE A2+ 2l =d 4,360,500
= 3,591,000
< 769,500
HEME H =S 7,334,500 4,917,500 2,417,000
= 6,040,000
= 1,294,500
403 AXIEHHSAH=201H 7,334,500 4,917,500 2,417,000
= 6,040,000
= 1,294,500
01 AR A= 2 £ 7,334,500 4,917,500 2,417,000
OSE HLHUEA =] ALY 3,934,500
= 3,240,000
== 694,500
Ok HEAUEH =2 A 1,700,000
= 1,400,000
= 300,000
Odzel HEMERH S AL 1,700,000
= 1,400,000
=S 300,000
HEAMY SAAS 7,110,860 0 7,110,860
= 5,856,000
< 1,254,860
403 MR HHMSAHE01H 7,110,860 0 7,110,860
= 5,856,000
= 1,254,860
01 AXISHA=2E2 X 7,110,860 0 7,110,860
OULAY S 7,110,860
= 5,856,000
= 1,254,860
AY2AZHI(oHLFH =) 131,202 114,187 17,015
Jl22HI (A 2t 131,202 114,187 17,015
Jl2A| (ol & = 1t) 131,202 114,187 17,015
201 ger=3| 61,200 52,700 8,500
01 AtR2tc|HI 61,200 52,700 8,500
OMLHH 25z 61,200
202 04| 59,364 51,119 8,245
01 =LHO LI 59,364 51,119 8,245
Odfgz R 59,364
203 HR=H] 10,638 10,368 270
01 D[22 HRFa| 5,940 5,940 0
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